“\UP!,/
B DX 5T

207w
- HE R B R (JISHRAR)
+ 22X 5TCAD(AutoCAD)
*3RJGCAD(SolidWorks)
M ERET (D)

bt
\UF./
552 %) | = v A
R0
- I A e A *3RFTTCAM
cTSARE (Mastercam)
< EEATE 2 cHRELTZO
-NCHE# -EIEIER
OS2 b 24
SEEHv =TS
FIEHERK
b (I D ACILTHIES)

How to

\ UP!/,

HEHzo W
320w

& How t

\UP!,
RE-ah
(2=
REEE BT —URE
L—HY—IIT -FHEAE
RYTF4vT  TIGHEE

2 Sl 2

-

How t

\ UP!,

HE - RE
Y207\

=ERTHEE EREE
- REHESHIE
EREHE
HEOERLEPRRE
(/FX %470, 94VI)

& BHE (ML) |
HRRBR(ES 313

= How to

\ UP!,

PR
R0\

‘FZFOJEE -EBFEBRER

T4 PZIVERE -LSIFRET
<> HEK 0 e ]

How to

\UP!,

<4 2
YRV
*Raspbery Pi *PIC

*Linux *Arduino
*RX/R8/H8 -ESP32

. Howto

Ay brv—272
R0

*LAN

(Ethernet. TCP/IP.VLAN)
=N

(DNS. X—Jv . web)
J—%

W—F4> T FELRE#

T7AT I #—)IV)

RFESE
220 7:w»
*C/C++ °PHP

*Python *HTML/CSS
-Java

BEAIL——FT VR
W=A835 8 B B % HIE [ B

- Bl AR B

*PLCHI

=EFEE—s—§IfE

BRTyEYTE—5—#1H
B —RE— 7 5
W22 S HIE
| Jm D20 [ |
BEEZRAOARY

BRRRE(ERRERE)

w\

How to

\ UP!,

TR
2207

By FT—2(A—HRv )
BEACHR(CC-Link)
mFAE>H

mE &> Y

| EAE A7

cBREERMNE (BR=1E)

miEsE WA
mEH EER

ali]

(BER. MK TREE)
my L —AREE

BERIE

¥ 3207w
BRISBL(E—E.EZE)
-CADIZ & 3 RIEER



